FAQ midas Civil » Analysis

EREDTP - BRTESEHIHRERSFE
HIMTERASTE - ERNRTE ?

ERESTD  BECEHEDERREENRERE  DEXMDIERME
DHPRBLEMRRREBERTE -

BRERE—-HEFITR  ReEEESH@US - BRE
XEBFEZHE  WERHEEBANNES - 550 ]
YERERBIEMUBEIHEE  AREEFERH%
ASERIEAHT - midas Civil ERUATPRASE ‘\_/

#1ZR7TE (Equivalent Truss Elements) Rt - &

DPEZEEBERENPENE (Sag Effect) FIERS)
Eois -

i,

pretension

FEMZEEITER (Equivalent Truss Elements) MMEZRH—MEMNERNRE T =
(sag) FIBERMSIENEFRAR - M FEEHRWANK/NTREN - UTERXRE

Est&H
EA
Keiastic = —
K= 1 _ EA
comb — 1/ +1/ - w2L2EA
Ksag Kelastic L1+ 1273
12713
sag = w213
s
==]

L sy

A ErmEE

L:-RE

W SEBEUREES
T #in

BENSETRGE

HEBRERD . 2FHMAUnknown Load FactorltIhgest BB LBRAITEH S
i EXERERTASENETE Al —auEa -

—
anAS 1 www.midasUser.com.tw



	投影片 1

